Notation Scientifique (])

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

5753000 = 33x1072% =
9600 000 = 0,00000851 =
6,947 x 10° = 640 000 000 =

950100 = 0,0000009348 =
839 x 107 = 0,000033 =
59x107° = 93x107° =
1,936 x 10° = 0,0000067 =
0,000213 = 6,539 x 107™* =
0,006361 = 8,969 x 10* =
45x107° = 524 x107° =
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Notation Scientifique (J) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

5753000

9600000

6,947 x 10°

950 100

8,39 x 1073

59 x 1075

1,936 x 10°

0,000213

0,006361

4,5 %x 1078

5,753 x 10°

9,6 X 10°

694 700

9,501 x 10°

0,00839

0,000059

1936 000

2,13 x107*

6,361 x 1073

0,000000045

3,3x1073

0,00000851

640 000 000

0,0000009348

0,000033

9,3 x 107

0,0000067

6,539 x 10~*

8,969 x 10*

5,24 x 1073

0,0033

851 x 10°°

6,4 x 108

9,348 x 1077

3,3x107°

0,000093

6,7 X 107°

0,0006539

89 690

0,00524
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